LIMITI

A)  Difunzioni elementari

lim x% = 4o0
X = 400

lim x% =

X = 400

se a>0 6. lim log,x = +o
X > 400

se a<0 7. lim log,x = —o0
X > 400

1 . _
lim Yx =+ essendoVx =xn,n €N 8. lim loggx = —oo

X = 400

lim x%=+o0
x— 0%

im x*=0
x— 0%

x - 0%

se <0 9. lim log,x = +o0
x - 0%

se a>0

sea>l

se O<a<1

sea>l

se O<a<1




B) Notevoli

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

31. 1i

lim (1+%=¢; 32,
X — 00
1
lim (1+x)x=e 33.
x—=0
; Ax _ ,a
lim (1+x) =e 34.
X — 00
. x 1 1
lim (1+=)x=ea 35,
x—0
1
lim (14+x)x=1 36.
X — 00
. x _
lim (1+ x) =1 37.
x—=0
in generale si hanno: da 16 a 21 33
I 1 \f(®) _ ’
im (1 + @) =e
X = 00 39.
1
lim (1+f(x)® =e
x—-0 ( ) 40.
f(x)
lim (1 + i) = et
fC) 41.
X — 0
1
: f\feo _ 2
lim (1 +T) = ea 42.
x—=0
. 1[0
lim (1 +@) =1 43.
x—-0
1
lim (14 f(x)® =1
X — 00
lim In(1+x) —1
x—0
. Ing(1+x) _ _L
lim - —logae—lna,aqtl
x—0
lim In(1+ax) -a
x—=0
lim St =1
X
x—=0
lim £ = Ing = —*
X logg e
x—=0
k_
lim 071 _ k; keR
x—0
. e*
lim pr i 400
X = 400
. (Inx)*
lim v 0
X = 400
lim  xP-(nx)*=0; Vo, €R,B >0
X = 400
sinx
lim = 1

x—0

. (sinx)™
lim x—n =1
x—0
sinkx

poe k+0

lim
x—0
sin kx

lim =k,
X

k+0

x—=0

. sinkx

lim =
hx

k,h#0

-

x—0
. sinkx
lim

x—-0

. tanx

lim =1
X

B EES ES

-

k,h #0

sin hx

x—0
. arctangx
lim 208 — g
x
x—-0
. 1-cosx
lim =0

x—0

lim ==
x—0
1-(cosx)?

lim > 1
X

x—0

. o1 . .1

lim xsin— = 0; (si ha |x sm;| < |x])
x—0

2

lim x?2 (sing) =0

x—0
T\ 2

(poiché 0 < x? (sin—) < x?)
X

Osservazioni:
1. lim sinx; lim cosx;

X > Foo x - too

non esistono ;

lim tangx
x - too

2. logax<x®<a*




